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PHILOSOPHY — HONOURS
Paper : SEC-A-1

(Logical Reasoning and Application)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10
(a) The padartha in which the sadhya is suspected is

(i) Sapaksa (i) Vipaksa
(i) Paksa (iv) Hetu.
(b) Which of the following is acceptable as Sapaksa in the inference of fire from perception of smoke
on hill?
(1) Kitchen (i) Lake
(i) Hill (iv) Pool.
(c) ‘The earth is different from other elements because the earth has smell’ — which type of inference
it is?
(1) Kevalanvayi (i) Kevalavyatireki
(i) Anvayavyatireki (iv) None of the above.
(d) Asiddha hetu is of
(i) two types (i) three types
(iii) four types (iv) five types.
(e) ‘Fire is cold because it is of the nature of Tejas’ — which hetvabhasa occurs in this inference?
(i) Vadhita (i) Asiddha
(i) Savyabhicara (iv) Satpratipaksa.
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The perception of the red colour of a jar with our visual organ occurs through the sannikarsa or
contact which is

(i) Samyoga (i) Samyukta Samavaya
(i) Samavaya (iv) Samaveta Samavaya.

The sense-object contact in case of perception of a universal, say tableness, in a substance, say
table, is a case of

(i) Samyoga Sannikarsa (i) Samyukta - Samavaya Sannikarsa

(iii) Samavaya Sannikarsa (iv) Visesya-visesana bhava Sannikarsa.

Which kind of fallacy occurs in the argument in which appeal to inappropriate authority is used?
(i) Argument ad baculum (the appeal to force)

(i) Argument ad verecundiam

(i) Bad analogy

(iv) Argument ad Ignorantiam.

A youth killed both his father and mother. During the time of trial, he pleaded for leniency on the
grounds that he was an orphan.

In the above argument, the fallacy committed is

(i) Argument ad Misericordiam (i) Argument ad baculum

(iii) Fallacy of false cause (iv) Fallacy of begging the question.

In judging the acceptability of hypotheses, the number of commonly used criteria is
(i) four (i) five

(i) six (iv) seven.

‘In absence of which an effect does not occur’ (sine qua non-rule) — which type of cause is
mentioned by this statement?

(1) Sufficient condition (i) Necessary condition

(i) Necessary-sufficient condition  (iv) None of the above.

The phrase ‘material element’ seeks to incorporate part of the concept of cause as
(i) necessary condition (i) sufficient condition

(ii)) necessary-sufficient condition (iv) None of the above.

2. Answer in brief (any five) :

a) Analyse the meaning of the terms ‘sapaksa’ and ‘vipaksa’. 2%+2Y%
(a) y g paks paks

(b) Why is paksata needed in the definition of anumiti? Discuss. 5

(¢) Explain the kind of sannikarsa which occurs in the perception of non-existence with suitable example.
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Identify the following inference either as Kevalanvayi, or Kevalavyatireki, or as Anvayavyatireki.
Give reason to support your answer.

Jar is nameable, since it is knowable. 5
What do you mean by fallacy? Explain when can an argument be called fallacious? 2+3
Mention the different varieties of the fallacy of Ambiguity and explain any one of them with example.

2+3
Explain with example refutation of any argument by logical analogy. 5

How does the distinction between the sufficient condition and necessary condition of an outcome
enter critically in determining legal responsibility? 5

. Answer any three questions :

What is hetvabhasa? Discuss the different types of hetvabhasa with example. 3+12
Write down the differences between kevalanvayi, kevalavyatireki and anvayavyatireki anumanas
with examples. 15
Write in detail any two fallacies under the fallacy of relevance. 15
Write down the criteria for appraising analogical arguments. Does analogical reasoning play any
role in legal argument? 10+5
Write notes on the following : T+1Y2

(i) Causation in logical reasoning

(i) Logical application of the concept of ‘paksata’.




